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The reversible numbers, are the digital
numbers (or 7 segment display numbers) that
when you turn them over, you still get a
number:

o=0 = 2=¢  5=5

Digits 3, 4 and 7 are not reversible numbers

PROBLEM 4.

Find solutions for number from 0 to 100, and
for each number when you turn over find all
the results from 0 to 10

You can use +, -, *, /, and (parenthesis)

Always the solution that uses less digits 1s
better, same quantity of digits it is better
with less symbols

Examples:

14 and 6 =0 — o+ {+39—-HE=Hd—hbh+1-5

28 and 6 = C YO T 23 oo T oot o
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RODOLFO RURTHRN, CLAUDIO MELLER

SOLVERS:



PROBLEM 1:

Find palindromic ambigramatic solutions for
numbers from 1 to 100

You can use +, -, *, /, and (parenthesis)

Always the solution that uses less digits 1s
better.

SOLUTIONS PROBLERM (-
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SOLVERS:

=3
1]

3, {0, 34, 42, 47, 4B, 53, &2, 2, 1k, 18, Bi, B2, 87, 93

-
8, 2¢, 2h, 28, 32, 37, 471, 49, bD = HAYM HIRSH

KH



PROBLEM 2:

Find solutions for year 2021 and year 2022

Always the solution that uses less digits 1s
better.

In the example we have 18 and 19 digits

c02i=999 +99+99+3+li+b+bb+bb +
bbb

c022=989 +99+899+39+2+B+2+b+bh
+ bb + bbb

SOLUTIONS PROBLERM 2:

chdi=2+b+ 2002 +9+ 2 (8 digits)

cidd=1+2+ 505 *2 +1{ (7 digits)

SOLVERS:
22t = JUNK KRTO
O

2icd = CLRY



PROBLEM 3:

Find solutions for REVERSIBLE years 2021 and
2022

For this problem we don 't use the condition
of ambigramatic

In this example we have an operation that
when you turn down still 1s correct
including the result (12 and 21)

95-H3+b=12 <2i=9+BH-5b

Always the solution that uses less digits 1s
better.

Find solutions for
a) 2021 and 1202
b) 2022 and 2202

It is not wvalid to use number 0, and numbers
2021, 1202, 2022 and 2202 to avoid trivial
solutions as:

cbdi + O = 202!
cidi + 1 —{ = 202!
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